do/dminA@(j, I) [pb/rad]

Ratio to ATLAS

.:
=
D

0

O
=
N

o
|

0.08

0.06

0.04

0.02

[EEY

0.5

13000 GeV pp tt
_| T T T T T | Tt I L | T T T T T TT | ]
[ A@(lepton,jet) (ATLAS for leptoquark search) _
— m ATLAS -
—A— Pythia 6.428 370 7
| --8-- Pythia 6.428 391 |
— Pythia 6.428 default —
% Pythia 6.428 pro-g20 ]
B 4 _________ 4 ....... 4 _|
_l | | | I_
:l T T T | | | I:
- R -
- S =
- 2 l .
u | ﬁ] _
0 1 2

minA @ (jo, I)3[rad]

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


